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QUESTION 1

Writing and establishing process control procedures is 

A. Disposition. 

B. Notification. 

C. Preventive action. 

D. Corrective action. 

Correct Answer: C 

 

QUESTION 2

Which of the following distributions models events that have 2 possibilities on each trial? 

A. Normal. 

B. Poisson. 

C. Binomial 

D. gamma. 

Correct Answer: C 

 

QUESTION 3

Which of the following quantitative methods does NOT apply to the assessment of actual system/ component reliability? 

A. Statistical analysis of field test and failure data. 

B. Statistical allocation of reliability goals. 

C. Evaluation of laboratory test data. 

D. Analysis of results of reliability demonstration tests. 

Correct Answer: B 

 

QUESTION 4

Corrective action requests are primarily 

A. Issued to correct supplier deficiencies. 

B. Generated to correct auditing deficiencies. 
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C. Formal requests for corrective and preventive action. 

D. A result of nonconformances detected in the internal inspection process. 

Correct Answer: C 

 

QUESTION 5

When using a control chart, a point plotting within the limits on the chart is 

A. The equivalent of type I error. 

B. The equivalent of type II error. 

C. The equivalent of accepting the hypothesis that the process is in control. 

D. The equivalent of not rejecting the hypothesis that the process is in control. 

Correct Answer: D 
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